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5 0.002 m3 EfEEE=(0. 75%2+0)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 8+0
AAEIE 1 0cm LA T Vs 0.600 m2
4RIV T BIGHKISHY JEHE TH1=JE F+hg+%E=0. 75%0. 8%0. 616
A B 0.370 m3
5 EIHEEI] BHO0.20m3 PEH TH2=2EF*g*%=0. 75%0. 8*0. 924
)= 0.554 m3
6 R T O BRI SR - B 1) SRR + L= R=0.75
1om<MEHIE=1.8m ~'v/&v5|Hk = 0.750 m
7 E LR (B ) BHO0.20m3 R TUI=FER+E+E=0. 75%0. 8*0. 79
Iyay R g 0.474 m3
8 BB (Fhg I ) BHO.20m3 MR 5T T US=%EF*E%14E=0. 75%0. 8%0. 65
RC-40H R + & o\ [ 6D Ve 0.390 m3
9 EHEE (W E)BH0.20m3 R TU4=FER+lF+E=0. 75%0. 8%0. 12
M-30H & + &> i [E 6 g 0.072 m3
10 FEREEIEMAIL As JFERA AL Gy (B HIER) =l A i Fif+ )5 X =0. 6%0. 05
)= 0.030 m3
11 PEPRALFEERE BH0.20m3 DTr4t BERTE S (FE HIE0) = Ad i A+ & X =0. 6%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.030 m3
12 &4 5@ BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 3574 =0. 37
+4#5 10.0kmLL F DID%E 2 0.924 m3 +0.554+0+00
13 AfdE T (HEE-¥E)3cnl /@ A IH=JE FH g+ I AR N H=0. 75%0. 8+0
BRI EAs I )= 0.600 m2




T TEHEEARE

(T H-6) Bl /K& A e & L3 (A 4ER5-10)

Fepr 1 BlKEAMR L

X[ 00004 “EHASETO

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SRAEY) B T =545 AT R AR B« AR S IN =0, 75%2+0
15ecmPL T )= 1.500 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.002 m3 EfEEE=(0. 75%2+0)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 8+0
AAEIE 1 0cm LA T Vs 0.600 m2
4RIV T BIGHKISHY JEHE TH1=JE F+hg+%E=0. 75%0. 8%0. 616
A B 0.370 m3
5 EIHEEI] BHO0.20m3 PEH TH2=2EF*g*%=0. 75%0. 8*0. 924
)= 0.554 m3
6 R T O BRI SR - B 1) SRR + L= R=0.75
1om<MEHIE=1.8m ~'v/&v5|Hk = 0.750 m
7 E LR (B ) BHO0.20m3 R TUI=FER+E+E=0. 75%0. 8*0. 79
Iyay R g 0.474 m3
8 BB (Fhg I ) BHO.20m3 MR 5T T US=%EF*E%14E=0. 75%0. 8%0. 65
RC-40H R + & o\ [ 6D Ve 0.390 m3
9 EHEE (W E)BH0.20m3 R TU4=FER+lF+E=0. 75%0. 8%0. 12
M-30H & + &> i [E 6 g 0.072 m3
10 FEREEIEMAIL As JFERA AL Gy (B HIER) =l A i Fif+ )5 X =0. 6%0. 05
)= 0.030 m3
11 PEPRALFEERE BH0.20m3 DTr4t BERTE S (FE HIE0) = Ad i A+ & X =0. 6%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.030 m3
12 &4 5@ BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 3574 =0. 37
+4#5 10.0kmLL F DID%E 2 0.924 m3 +0.554+0+00
13 AfdE T (HEE-¥E)3cnl /@ A IH=JE FH g+ I AR N H=0. 75%0. 8+0
BRI EAs I )= 0.600 m2




T TEHEEARE

(T H-6) Bl /K& A e & L3 (A 4ER5-10)

Fepr 1 BlKEAMR L

XfH 00005 7K$kie

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL-2
g 2.000 m
2 fEFk—bh EH/RT=1=2
150mm X 50m,// % 25 Hr0IAF» J= 2.000 m
3 AHLERRUINT TAT 7V M ST T =52 A P e A I B =2%2+1. 2
15emPL T )= 5.200 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEE AE 40 I+ AL+ I BRD) *0. 023%
& 0.006 m3 EHEEE=(2%2+1. 2)*0. 023*0. 05
5 EIHEEI] BHO0.20m3 PR TH2=4E Fox@*iE=2%0. 6%1. 18
)= 1.416 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E Forfigs4e=2%0. 60, 43
Tyiay bR g 0.516 m3
7 ERIERE (B ) BHO.20m3 P B T US=%E Rl 78=2%0. 6%0. 65
RC-40#L & + & 7 5 [E g 0.780 m3
8 B (FhR I ) BHO.20m3 MR T U4=AE Fowfigs =240, 6%0. 12
M-303 & + & > 7 S [E o g 0.144 m3
9 EEIERE (WHIERE)BH0.20m3 PR 2R R (GHTRR &) =4I Fox 8 W i F=— 1%2%0. 001
Iioay R LR )= -0.002 m3
10 FEFRFEIEME As BEM LSS (HREIE) =R f = & =1. 2%0. 05
)= 0.060 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R R /R X =1. 2%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.060 m3
12 FAE5EHE BH0.20m3 DTrat B B Me=H1 57 +H2 53 HiE T8 3 (S +HAl) -5 =0+1.
+4#5 10.0kmLL F DID%E 2 1.416 m3 416+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS B =AE S IE + I AR N =2%0. 6+0
BRI EAs I )= 1.200 m2




T TEHEEARE

(T H-6) Bl /K& A e & L3 (A 4ER5-10)
B 1 EOKEARR L

XM 00006 4y/KIE®D

NO #Bp 4 Fr/ Hiks - ~Hik B B B FHE
1 EHEERROIMY 7277 VI L IR T =SS R R AR IS = 142+2
15emPh T )z 4.000 m

2 EEBIGIRA

R ) W N AL L= (RS 5 I S A BN B0 0. 023%

& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
AAEIE 1 0cm LA T Vs 1.000 m2
4RIV T BIGHKISHY JEHE TH1=JE B+ ZE=1%1%0. 46
A B 0.460 m3
5 EIHEEI] BHO0.20m3 PR TH2=%E Fexg*iZE=1%1%0. 69
)= 0.690 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E i+ 4e=1%1%0. 4
Tyiay bR g 0.400 m3
7 ERMRE (BT R) BHO0.20m3 P B TUS=ZE sl ZE=1%1%0. 6
RC-40HE 2 + &> 7 S5 [E D )= 0.600 m3
8 B (FhR I ) BHO.20m3 MR T UA=SIE R+ e=1%1%0. 12
M-303 & + & > 7 S [E o g 0.120 m3
9 EERBEIEMMIEL As BEAA ALy (B HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERA TE R (PR ANER) =T A+ 2 < =1%0. 05
AsHl - CoBll (E/7) 2.0kmPL F DID%E J= 0.050 m3
11 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (S +ll ) — #5485 =0. 46
18> 10.0kmLLF DIDE g 1.150 m3 +0.69+0+00
12 AHEET (HEE - #5) 3cmlfE IAE B =E FoH g+ E AR I R =1%1+0
BABERIEAs 7745 2 1.000 m2




T TEHEEARE

(T H-6) Bl /K& A e & L3 (A 4ER5-10)

BEAR 1 AR KB AR T

X[ 00007 #EAKRED

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L N To1=3
g 3.000 m
2 fEFk—bh EH/RT=1=3
150mm X 50m,// % 25 Hr0IAF» J= 3.000 m
3 AHLERRUINT TAT 7V M ST T =52 A P e A - I B =3%2+1. 2
15emPL T )= 7.200 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEE AE 40 I+ AR+ I BRD) *0. 023%
& 0.008 m3 EHEEE=(3%2+1. 2)*0. 023*0. 05
5 EIHEEI] BHO0.20m3 PR TH2=4E Fox@E*i=3%0. 6%1. 18
)= 2.124 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E Forfigs4e=3%0. 6x0. 43
Tyiay bR g 0.774 m3
7 ERIERE (B ) BHO.20m3 P B T US=%E Rl 8=3%0. 6%0. 65
RC-40#L & + & 7 5 [E g 1.170 m3
8 B (FhR I ) BHO.20m3 MR T U4=AE o figs4e=3%0. 6%0. 12
M-303 & + & > 7 S [E o g 0.216 m3
9 EEIERE (WHIERE)BH0.20m3 PR 2R R CHTRR &) =4I Fox 8 W i F=— 1%3%0. 001
Iioay R LR )= -0.003 m3
10 FEFRFEIEME As BEMALAS (HREES) =R f = S =1. 8+%0. 05
)= 0.090 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BE HITA0) =R FE+ /R X =1. 8%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.090 m3
12 FAE5EHE BH0.20m3 DTrat B B Me=H1 57 +H2 23 HiE T8 4 (A +lm) - #i 5 =0+2.
+4#5 10.0kmLL F DID%E 2 2.124 m3 124+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS B =AE S IE + I AR N 5 =3%0. 6+0
BRI EAs I )= 1.800 m2




T TEHEEARE

(T H-6) Bl /K& A e & L3 (A 4ER5-10)

BEAR 1 AR KB AR T

X[# 00008 F#A/KED

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=1.5
g 1.500 m
2 BEEERT—h IR T=1=1.5
150mm X 50m,// % 25 Hr0IAF» J= 1.500 m
3 AHLERRUINT TAT 7V M SRAED) B T =545 B IR H s AR BN Bi=1. 5%2+1. 2
15ecmlL T )= 4,200 m
4 BEFRI5IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ N BRD) *0. 023%
5 0.005 m3 EfZEE=(1.5%2+1.2)*0.023%0. 05
5 EIHEEI] BHO0.20m3 PEH| TH2 =L Fo#lig+i%E=1. 5%0. 6%1. 18
)= 1.062 m3
6 B (Fh I ) BH0.20m3 R TUL=4E Rexfigx4e=1. 5%0. 6%0. 43
Tyiay bR g 0.387 m3
7 ERIERE (B ) BHO.20m3 H B T US=4E EsE*ZE=1. 5%0. 6%0. 65
RC-40#L & + & 7 5 [E g 0.585 m3
8 B (FhR I ) BHO.20m3 R T U4=4E Rexfigx4e=1. 5%0. 6%0. 12
M-303 & + & > 7 S [E o = 0.108 m3
9 EEIERE (WHIERE)BH0.20m3 PR RAZERR CHTRR &) =4 Fox & W f=— 1% 1. 5%0. 001
Iyay R ER g -0.002 m3
10 FEFRFEIEME As BEMALAS (HREIE) =i i f = £ =0. 9%0. 05
)= 0.045 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (HE 10 =i R+ /R X =0. 9%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.045 m3
12 FAE5EHE BH0.20m3 DTrat B B Me=H1 57 +H2 53 HiE T8 40 (S +Alm) - #i 5 =0+1.
+4#5 10.0kmLL F DID%E 2 1.062 m3 062+0+00
13 AfdE T (HEE-¥E)3cnl /@ A IH=JE F* g+ A I =1, 5%0. 6+0
BRI EAs I )= 0.900 m2




T TEHEEARE

(T H-6) Bl /K& A e & L3 (A 4ER5-10)

BEAR 1 AR KB AR T

X[ 00009 H#EAKRE®

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=1.5
g 1.500 m
2 BEEERT—h IR T=1=1.5
150mm X 50m,// % 25 Hr0IAF» J= 1.500 m
3 AHLERRUINT TAT 7V M SRAED) B T =545 B IR H s AR BN Bi=1. 5%2+1. 2
15ecmlL T )= 4,200 m
4 BEFRI5IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ N BRD) *0. 023%
5 0.005 m3 EfZEE=(1.5%2+1.2)*0.023%0. 05
5 EIHEEI] BHO0.20m3 PEH| TH2 =L Fo#lig+i%E=1. 5%0. 6%1. 18
)= 1.062 m3
6 B (Fh I ) BH0.20m3 R TUL=4E Rexfigx4e=1. 5%0. 6%0. 43
Tyiay bR g 0.387 m3
7 ERIERE (B ) BHO.20m3 H B T US=4E EsE*ZE=1. 5%0. 6%0. 65
RC-40#L & + & 7 5 [E g 0.585 m3
8 B (FhR I ) BHO.20m3 R T U4=4E Rexfigx4e=1. 5%0. 6%0. 12
M-303 & + & > 7 S [E o = 0.108 m3
9 EEIERE (WHIERE)BH0.20m3 PR RAZERR CHTRR &) =4 Fox & W f=— 1% 1. 5%0. 001
Iyay R ER g -0.002 m3
10 FEFRFEIEME As BEMALAS (HREIE) =i i f = £ =0. 9%0. 05
)= 0.045 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (HE 10 =i R+ /R X =0. 9%0. 05
AsHil - Codifl (%) 2.0km A T DID 4 & 0.045 m3
12 FAE5EHE BH0.20m3 DTrat B B Me=H1 57 +H2 53 HiE T8 40 (S +Alm) - #i 5 =0+1.
+4#5 10.0kmLL F DID%E 2 1.062 m3 062+0+00
13 AfdE T (HEE-¥E)3cnl /@ A IH=JE F* g+ A I =1, 5%0. 6+0
BRI EAs I )= 0.900 m2




